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General Instructions:

a) The date of submission of the assignment are as follows:

1. Science & Sanskrit 7th Jan 2025
2. Social Science & English 8th Jan 2025
3. Hindi, IT/Al& Maths 9th Jan 2025

b) The assignment is to be attempted in class notebooks.
c) Neatness and timely submission of assignments carries extra marks,

ENGLISH
Topic: Conjunctions, Kinds of Adverbs, Wordpower and Vocabulary, Paragraph
Writing

Mastering Conjunctions

Q1 Join the sentences using the given conjunctions:
(Use each conjunction only once: and, but, because, so, although)

1. I wanted to go to the park. It started raining. | smc ej

2. She studied hard. She passed the test. 2 ,

3. I like apples. My brother prefers bananas. [ \t@ \““O\\
4. We missed the bus. We walked to school. ' -ﬁ-——--"‘(;llse
5. The movie was interesting. It was very long. bef

THE ADVERB ADVENTURE

Q2 Identify the type of adverb in each sentence: (Manner, Place, Time, Frequency, or Degree)

1. She sang the song beautifully.
2. We will meet tomorrow at the cafe. AQV .gj\f Ds
He rarely forgets to do his homework. ve
P R

The child ran outside to play.
It was extremely cold yesterday. ct_s_amer confidentty _
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VOCABULARY CHALLENGE

Q3 Unscramble the following words using the synonym or
antonym provided in brackets. Write the correct word in the
blank space.

1. eervrpso (Synonym: Improve)

2. utpegh (Antonym: Loud)

3. ieangamt (Synonym: Creative)
4. ginperesd (Antonym: Cheerful)

5. girstnchne (Synonym: Strong)
Q4 Write one synonym and antonym of the following words:

Word Synonym Antonym

Happy

Brave

Difficult

Bright

Fast

CREATIVE FUN!

Q5 Write a short paragraph (4-5 sentences) using at least 3 different
o conjunctions and 2 kinds of adverbs.

P~ ) Example: Although it was late, we decided to go for a walk. We

. walked quickly because the park was closing soon. The stars shone

+' 2 brightly, and we felt very peaceful.

BONUS QUESTION

What is your favorite word in English and why?

Have fun learning! ™~

Note: Write only the answers in the English Grammar notebook.
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MATHEMATICS

TOPIC: COMPARING QUANTITIES
1. Find the percentage of unshaded portionsin given pictures:

2. A bowl of sweets was placed on a table
to be distributed among three brothers
Rajan, Sejal and Karan.

Rajan arrived first and ate what he
thought was his share of sweets and
left.
Then Sejal arrived. He thought that
he was the first one to arrive and ate
the number of sweets, he thought
was his share and left.

Lastly, Karan arrived. He again the arrive and he took what he thought was his share.
If 16 sweets are left in the bowl finally, how many sweets did the bowl contain

Initially?

3. The pieces of Tangrams have been rearranged to
make the given shape. By observing the given shape,
answer the following questions:

What percentage of total has been coloured?

(i) Red (R) =
(i) Blue (B) =
(iii) Green (G) =
Check that the sum of all the percentages
calculated above should be 100. « If we
rearrange the same pieces to form some

other shape, will the percentage of colours
change?




4.

Complete the table below using your knowledge of fractions, decimal and percent
If Rs.420 is divided between A and B in the ratio of 3:4,then

S No. Fraction Decimal Percent

1. 4 0.80

2. 0.375 37.5% -

d. 11 55%
20

4, 7
8

5. 0.72




5. A’sshareis_

6. 45cm as a percentage of 3m is

. 20% of 300? Is It same as 300% of 20??
. 50% of 7007? is it same as 700% of 50?

Express the following ratios in the simplest form.

. A dozen to a score =

5m:600cm=

. If P =50,000 T= 4 years, A =70,000 Find R

At High School, 119 students walk to school. If this number is 35% of school enrolment, then

how many students are enrolled at the school?
If 25% of a journey is 750 km. How long is the whole journey?
. Dipankar invested a sum of money from March 2003 to March 2008 at the rate of 12%p.a.
If the interest received is Rs.1620, find the sum.
. The population of a village increased from 24500 to 25000. Find the percentage increase.

. The cost of a transistor decreases from Rs.400 to Rs.380. What is the percentage of
decrease?

. A shopkeeper increased the price of a cycle by 15% , the increased price was
Rs.1610.What was the original price?

. By selling a watch for Rs.1275 Javed lost 15%. At what price should he sell to make a profit
of 10%?




SCIENCE

Topics: Transportation of Materials, Light, Electric Current and Its Effects

Objective Type Questions
Chapter 1: Transportation of Materials
Fill in the blanks:
1. The process by which plants lose water through their leaves is called
2. Inhumans,the _isresponsible for pumping blood throughout the body.

3. The main excretory product in humans is , Which is excreted through the

Multiple Choice Questions (MCQs):

4. Which of the following is a vascular tissue in plants?
a. Xylem

b. Epidermis

c. Mesophyll

d. Guard cells

5.The blood vessels that carry blood away from the heart are called:
a. Veins

b. Arteries

c. Capillaries

d. Lymph vessels

6.What is the function of stomata in plants?
a. Absorption of water

b. Transport of nutrients

c. Exchange of gases

d. Photosynthesis

True/False:
7. Xylem transports food in plants. (True/False)
8. The human heart has four chambers. (True/False)

Chapter 2: Light

Fill in the blanks:
9. The bending of light as it passes from one medium to another is called
10. A mirror always forms a virtual and upright image.




Multiple Choice Questions (MCQs):

11. Which of the following is a source of artificial light?
a. Sun

b. Candle

c. Moon

d. Stars

12. The image formed by a plane mirror is:
a. Real and inverted

b. Real and upright

c. Virtual and upright

d. Virtual and inverted

13. Aconvex lens is at the centre than at the edges.
a. Thinner

b. Thicker

c. Of the same thickness

d. None of these

True/False:
14. A concave mirror can form both real and virtual images. (True/False)
15. Lighttravels in a straight line. (True/False)

Chapter 3: Electric Current and Its Effects

Fill in the blanks:
16. A device that prevents excessive current flow in a circuit is called a
17. The heating effect of electric current is used in

Multiple Choice Questions (MCQs):
18. The Sl unit of current is:

a. Volt

b. Ampere

c. Ohm

d. Joule

19. The filament of an electric bulb is made up of:
a. Copper

b. Iron

c. Tungsten

d. Aluminium

20. Which of the following is a good conductor of electricity?
a. Rubber

b. Wood

c. Silver

d. Plastic

True/False:
21. Acircuit breaker automatically stops the flow of current in case of overload. (True/False)
22. A fuse wire is made of a material with low melting point. (True/False)




Application-Based Questions

Q1. Draw a diagram to show the path of light when it reflects off a plane mirror. Label the incident ray, reflected
ray, and normal.

Q2.A person observes a fish in a pond. Why does the fish appear closer to the surface than it actually is? Explain
with the concept of refraction.

Q3. What would happen if the xylem in a plant were damaged? Explain. Q4. Why do

arteries have thick walls while veins have thin walls?

Q5. Write a short note on the process of transpiration in plants.

Q6. Draw a ray diagram showing the reflection of light by a plane mirror. Label all components.

Q7. Why do objects appear distorted when viewed through water? Explain the concept of refraction involved.

Q8. A person accidentally cuts the main root of a small plant. Predict and explain the effects on the transportation
of water and nutrients.

Q9. How does the heart ensure blood reaches every part of the body? Describe its working with a labelled diagram
of the human heart.

Higher-Order Thinking Skills (HOTS)

Q1.A torch is shone at an angle onto a wall with a mirror placed on it. The reflected
light forms a spot on another wall. Explain the path of light and how it follows the
laws of reflection.

2.A patient has a blockage in one of the arteries leading to the heart. How will this
affect the transport of materials in the body? Suggest a medical procedure to address this issue.

Q3. You are provided with a glass prism. Describe an experiment to show how white
light splits into its constituent colors when passed through a prism.

Q4.How do plants adjust the opening and closing of stomata based on environmental
conditions?

Q5.A periscope uses mirrors for its functioning. Explain how light travels in a
periscope with the help of a diagram.

Q6. Design an experiment to demonstrate that light travels in a straight line. Include materials, procedure, and
observations.

Q12.Explain how transportation of materials in plants differs from the circulatory system in humans. Provide at least
two key differences.



SOCIAL SCIENCE

Topics: Human- Environment Interaction- The Tropical and the Subtropical region

Q.1 Which is the second longest and the largest river in terms of volume in the world?
A) Amazon

B) Nile

C) Brahmaputra

Q.2 Kolkata is located on the river .

A) Krishna
B) Hoogly
C) Bhagirathi

Q.3 One of the direct consequences of slash and burn agriculture is
A) Forest fire

B) Global warming

C) Flooding

D) Drought

Q.4 Where is the densest rainforest area in the world located?
A) Amazon basin

B) Congo basin

C) Nile basin

Q.5 People of this region practice “slash and burn agriculture”. It is a way of cultivating land where farmers clear a piece of
land by slashing or cutting down trees and bushes.
Which region is indicated here?

A) Ganga-Brahmaputra Basin
B) Amazon Basin
C) Bay of Bengal
D) None of these

Q.6 Which of the following creatures does not belong to the Ganga-Brahmaputra basin?
A) Rhinoceros

B) Tree boa

C) Boars

D) Toucan



Q.7 Which of the following is not a tributary of the Ganges?

A) Kosi
B) Chambal
C) Tista
D) Ghaghra

Q.8 A variety of predating fish found in Amazon:
A) Hilsa

B) Susu

C) Piranha

D) Rohu

Q.9 The temperature of Amazon is

A) Low

B) High

C) Medium

Q.10 Which of the following cities is not in the Ganga-Brahmaputra basin
A) Guwahati

B) Kanpur

C) Indore

D) Patna

Q-11. Silk Worms are reared in which of the following States
A) Punjab

B) Rajasthan

C) Kerala

D) Assam

Q.12 Manioc is the staple food of the people living in the

A) Amazon basin

B) Ganga basin

C) Sundarbans

D) Prairies



IT/Al

INFORMATION TECHNOLOGY AT T e i
Topic : HTML 5 Webpage Designing s HTML-..... -

S0 me e it
e 4 8 apms. denga

Create a webpage in HTML with the following specifications:

1. A table showing Max and Min temperature in Noida from 23 Dec 2024 to 30
Dec 2024.

2. An Image of Christmas and New Year celebrations R, s 004 .10
3. Anordered list of activities (any five) that you did in Winter break.

(x-a[i]) ¢ X088

The HTML code is to be written in Notebook and screenshot of the webpage is
to submitted in the following google form.
https://forms.gle/6qtndo4X12YBPrjXA

ARTIFICIAL INTELLIGENCE
Project: Dive into the World of Pokémon with Al!
Pokémon is one of the most beloved games among students.
e Al Image Classification:
Using the Machine Learning for Kids model, design an Al-based Image Classification model. Train your
computer to predict the type of Pokémon based on their appearance.
e Creative Extension:
Take it further by designing your very own Pokémon in Scratch! Use the drawing tools to create a unique sprite.

Refer to the attached sheet for detailed guidance."
Link for machine Learning for kids platform
https://machinelearningforkids.co.uk/



https://forms.gle/6qtndo4X12YBPrjXA
https://machinelearningforkids.co.uk/

